ROYAL CIVIL SECRVICE COMMISSION
CIVIL SERVICE COMMON EXAMINATION (CSCE) 2010
EXAMINATION CATEGORY: THCHNICAL

PAPER II: GENERAL SUBJECT KNOWLEDGE -MEDICAL

Total marks 100 Time 90 minules
1. Read the [ollowing instructions before you proceed to answer the questions,
2. The question paper is divided into two sections: A and B
3. Section A is multiple chotce questions (70 marks). Choose the one BEST answer to the
question.
4. Part 2 is short answer question (30 marks}. Answer the question to the point.
5. Use separate sheet for all the answers.
6. Number of answer sheets attached ’:I



Section A: Multiple choice question (70 marks)

SELECT ONE MOST CORRECT OR APPROPRIATE ANSWER (1 mark each for every

queslion)

L. All ure commaon bacterial diseases of demestic animals except ...

a) Anthrax

c) Salmonellosia

2. Bve is the lemale of o ..ovvn s

ay Gioat

c) Donkey

3, Beewax iz abtained from.,

a) Apia Indica

c) Apis Florea

)

b) Brucellosis

d) Foor and Mouth Disease

b} Sheep

) Horse

b} Apis Darsata

d) None of abave



4. Fish Wleat is hetter then other meat as it contains more..

a) Carbohydrate by Fats

c) Prateina dy Water

5. Ability of an organism to ward of infection is called. ...

a) Resistance b} Pathogenicity

c) Infection d) Vimlence

6. Which of the following cells are involved in the defense mechanism of the hody?

) Lymphocytes b) Meutrophills

¢} Macrophages d) All of above

7. Sexually transmitted diseases in Humans are ...

aj Syphillis b) Chancroid

¢) Gonorrhoea d) All of the above
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8. All are non-comniunicable diseases cxeept...,

a) Hyperlension b) Diaketes mellitus

¢) Tuberculosis d) Gout

9. When the stems of a plant are modified o gree

n [lattened struchyres and leaves are modificd
nto spines, it is called as,.

a) Phvllode b} Cladode

¢) Bulbil d} Phylloclad

10, In & plant, the Bud that Erows dl the upex of 4 stem or branch is called as

a) Axillary hud b) Terminal bud

¢} Accessury Bud d) Adventitious bud

I'l. The storase root in a carrot is a moditied
fo ]

4) Tap root b Adventitiogs root

&) Stem d) Leal
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12, The stern of a plant grows directly [rom.....

a) Colyledons by Radicle

¢} Inleguments ) Plumule

13, If a cell swells after being placed in a solution then the solutionis.......

a) Meutral Solution b) Hvpertonic solution

¢) Hypolunic solution d) lsotonic solution

14. When a cell is fully turgid, which of the following pressure will be zero......

a) Suclion pressure h) Wall pressurc

¢} Osmolic pressure d) Turgor pressure

.....

a) Absorplion b) Respiration

c) Transpiraticn ) Guttation

&



L6, Where would you find psudo-steatified columnar epitheling,?

a) Moauth b) Epidermis

c) Ki dneys d) Traches

17. The inner suiface of Targe intestine is lineg with .

&) Muscular Tissye by Glandular Epithelium

¢} Derrnis d) Cuticle

18. The alweoli ol mammalian liugs are lined with

) Simple Cuhoidal Epithelium b Cilliated columap epilthelium

¢) Simple squamous epithelium d) Cilliated cuboid epithelinmg

L9. The serous membrane covering the lung is called

) Pleura b) Peritoneuny

¢} Pericardigm d) Serasa

B
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20. The noble gases that is used in lasers for medical use are....

a) Helium and Neon b) Neon and Argon

¢) Heliuvm, Neon and Argon ) Neon, Arpon and Krypton

21. In the metallurgy of Tron, when Limestone is added to the blast furnace, the calcium ton ends

up ..

a) slag by Ganguoe

£ Moetallic Caleivm d) Caleium Carbonate

22, The metal used as catalyst in the Hydrogenation of Oilis ..

a) Irou b) Nickel

¢) Caobalt d} Copper

23. Concentrated Sulphuric Acid changes canc sugarto ...

a) Carbon by Carbon-dioxide

h) Carbon mono-oxide d) Oxalic Acid
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24, Prolusite iz a mineral that contain..

a) Shiver b Manpancse

¢} Chromium d) Zine

25. Tthanal can be made fram Ethanol by...

a) Oxidation b) Reduction

¢) Hydration d) Dehydration

26. Rutherford's scattering cxperiment is related Lo the size of .

a) Nucleus b) Atom

c) Llectron d) Neutron
27, Barium is ohtained by the reduction of its oxide with,.

a4t Carbon b) Sodinm

b) MMagnesium d) Aluminum

.g"g_



28, 'The hardest ul all alkall melal is.,

@) Lithium b) Sodium
¢) Porassium d) Calsivm

29, The clectromagnetic radiation with maximum wavelength is
a) Ultraviolet rays b} Radio wave
o) X -Rays d) Infrared
30, Moverment of colloid particles under the influence of an clectric current is known as.,
a) Electrophoresis b} electro-nsmosiy
¢) Clectro dialysis . d) Brownian movement
31, Lead pencils conlains
a) Leud b} Lead sulphale’

¢} Graphite d) Lead and Carbon

-



32, Sebum is secreted by ...

a} Sweal gland

¢) Sehaccous gland

33. Endomelrium is the innermost layer of ...

1) Blood vessels

o) Bonesy

34, Mast cells are found in ..

a) Adipose Tissue

¢) Throus 'Tissuc

b) Mucous sland

d) Cardiac gland

b} Ulerus

d) Intestine

b) Areolar lissuc

) Muscles

35. When concentrated Sulphurie Acid is added to a small amount of salt in a test tube, a

colorless gas is evolved with pungent smell. The inference is ...

a) Chloride may be present in the sall

¢) Nilrale may be present in the salt

10
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b) Presence ol Chloride in the salt is confirmed

d) Presence of nitrate in the salt is confirmed



36. A catalyst is & substance which ...
a) Imercases the equilihrium concentration of the product
by Changes the equilibrivm constant of the reaction
¢} Shartens the time Lo reach couilibrinm

dy Supplies energy to the reaction

37. Faraday’s Laws of Electrolysis ate related to....

a) Alomic Numbers of the Tons discharged

b} Moles of [ons discharged
¢) Eguivalent weights of Tons discharged

d) Moles and equivalent Weights of lons discharped

38, When an electric current is passed through an aqueons solution of Sodium Chloride.
a) The pH of the solution progressively decreases
by The pH of the solution progressively increases
¢) The pH does not change

d) A change in pH can be predicted only il the concentration the solution and the
strength of the current are known.

11
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39, Rucrose i3 found in

a) Sugar cane

¢) Honey

40), Pepsin is an example of:

a) Enzyme

c) Mutricnot

41. Islets of langerhans i3 found in

a) Ovary

¢) Pancreas

42, Bilirmbin is found in;

1) Blood

o) maliva

43, Glycogen is stored in:

i} Liver and muscles

c) Muscle only

12
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b Starch

d) Crange

b} Hormone

d) Vitamin

s

b Liver

d) Spleen

b} Bile o

d) Pancreatic juice

b Liver anly

d) Pancreas



A,

44, Amino acids that can be synthesized in the body are:

al Mon essential amino acids b} Eszential amino acids

¢} Active amino acids d) In-active amino acid

45, Carbon dioxide is carmied in the bland in the formm of:

a) Sodium bicarbonate h} Sadinm carhbonarte

¢} Potassium carbonale dy Magnesium hi-carhonate

46. Breathing centre that contrals normal hreathing in mammals lies in:

a) Cereballium b)) Cercbrum

¢) Mid-Brain d) Medulla-Ohlongata

47. Foramen of Monoro is an aperture between:

4) Brain and spinal cord b) Third and forth ventricle

¢) Lateral and third ventricle o) none of above

]



48. When sympathetic nerve supply to the heart is completely cut off, the hearl beat will:

a) Show no change b) Increase

¢) Decrease d) Non of the above

49. Increase in blood pressure and heart rate is cansed by

a) Adrenaline b) Thyroid
c ) Secretin d) Gustrin
i
a0, Magnelic field can be produced by
a} Moving charge only b) Change in clectric field only
¢ Non of them d)aand b
31, If a beta particle is emitted from o radioactive substance, then its atomic number;
L
a) Increase by one unit b} Decrease by one unit
¢) Increase by two units d) Decrease by two units

14

-]



52. Which of the following is not a fundamental particle?

a) Proton BiNeulron

c) Meson d} Alpha particle

33, The resistance of a straight conductor does not depend om ils:

a) Temperalure ' b} Length

¢) Material d) Shape of cross section
€ 34. The ungle between the magnetic meridian and .EE:DEI'F]]}h!'C meridian is known as:

ad Mapnetie dip k) Magnetic declination

¢) Magnetic movement d) Magnetic field strength

55, Of the following, the most suitable material for making electro magnets 1a:

a)  Soft iran b Steel

é ¢) Copper d) Nickel
& No 56 is nisshing

57, The working of a dynamo i3 based on:

a) Magnetic effect of current b) Heating effect of current

¢) Chemical effect of current d) Clectromagnetic induction

15



38. The refractive index of a glasz prism depends upon;

a) The angle of prism

¢) The color of incident light

39. The compound microscpe was invented hy

a1 Romer

¢} Focault

60, Candela is the unit of:

a) Acoustic intenzity

¢} Luminous intensity

61. The energy which an electron acquires when acveleraled through a potential difference of

one volt i3 called:

a} One joule

c) One erg

14
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b) The angle of devialion of light ray

d} The intensity of incident light

b} Galileo

dy Fizeay

b)Llectric intensity

d} Magnetic intensity

b Cme electron volt

I} One watt



62, A photun is:

ab aguantum of radiation b a quantum of matter
¢c) & positively charged particle ) a negatively charged particle

63. In which region ol the electro magnetic speclrum does the lymen series of hydrogen lis:

a) Ultraviolat b} Inlra-red

¢} Visible d) Xoray

6. As the speed of an electric fan increases, the current:

a) Increase 1) Decreases

) Remains the same d) becoines maximum when speed is maximum

65. Ieat radiations are:

a) CGamma rays b) Microwayves

¢) Infra-red radiations d) Badio waves

66. When is World AIDS day ohserved?

) 23" March by 1% April

¢) 1* December d) 11™ November

17

-]



67. Tuberculosis is disease caused by:

a) Wirus b) Bacteria

o) Arthropads d} Mon ol the above

68. IITV/AIDS can be transmitted through:

a) Blood b) Breast milk

¢) Body fluids d) All of the above

68, Condom iy used [or

a) Contraceplion b) Prevention af HIV/ALDS

¢) Prevention of sexually transmitted diseases d) All of the above

70, World TE day is observed on:

) 24" March by 21% April

c) 1" December d) 29" October

1B

-]



Section B: Shait questions

Answer ALL the questions in brief on separate sheets. (3 marks for each gquestion)

Q.1 How many moles of Sulphur atoms and oxygen atomns are present in one mole each of
1‘123{:‘4, 1‘11503 anc SD:Q

(Q 2: What is Elcctroplaling?

(3. What is Sericulture?

(4, Define Lloununity?

(25, Define Health as per the World Health Oreanization (WHQ) definition?

Q6. Detfine Diflusion?

(7. Define Osmotic Pressure?
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(28, Define Turgor pressure?

(39, What is the role of [lemoglobin i respiration?

Q10 What is Spermalogenesis?

20
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